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Treatments r2>.Ci2|SSQ

Y1: Y2: Y3:1 Y4:1 Y51

16 18 44

2

0
Q2 0 +1 +1 -1 -1 40 4*(4
Q3 0 +1 -1 0 0 20 4%(2
Q4 0 0 0 +1 -1 28 4%(2

QL +4 1 1 -1 -1 0 4*
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100
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SSQI=[2CAlYi.]*2/rX>.C1i2=[4*(168)+...... +(-
1)*(144)]/4*[(4"2+......+(-1)*2)]=0
SSQ2=0Q2/r).C2i"2=[(188)+(168)+......+(-144)]"2/4*[(1)"2+....*(-
1)72]1=100

SSQ3=50

SSQ4=98

SS treatments =248

100 11.53

50 .77
11.3

867_
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NO:t1
N1:t2
N2:13
N3:t4
N4:t5
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rZCI SSQi

Linea -2 -1 O +1 +2 249 50 124
r 02

Quart +1 -4 +6 -4 +1 46 350
IC




SSLinear=[2Cli*YL.]"2/r*[2.CI"2]=[(-2)*(139)+......(+2)(239)]/5*|(-
2)N2+....... +(+2)72]=1240.02

SSQuad.=10.41

SSCub.=0.08

SSQuart.=6.05

o LS g il Jatas () gang Aglad) e glaall el

-

Treat. 1256.56  314.41

Lin. 1 1240.02 1240.02 71.35* &
Quad 1 10.41
Cub. 1 0.08
Quant 1 6.05
Error 20 347.6
Total 24%* 1604.16




M"\ )JJ\A Q\ djﬂ\ S L’éa\...d\ Jalail) @u OA
M.Liojjma M‘ L_iymoi\_u.\ J\JJA(__LA:\AJ\ u\

Al QY Al Aelua 8 age 58




